n. 249, #1-16 all, #21, #22

1. Equation 1 Equation 2
X+y= 3x—y=0
? ?
2+6=38 32)—6=0
7
8 =8V 6—-6=0
0=0v

Because the ordered pair (2, 6) is a solution of each equation,
1t 1s a solution of the linear system.

2. Equation 1 Equation 2
x—y=6 2x — 10y =4
? ?
8§8—-2=6 2(8) — 10(2) = 4
7
6=6v 16 —20 =4
—4 #F4X

The ordered pair (8, 2) 1s a solution of the first equation, but
it 1s not a solution of the second equation. So, (8, 2) 1s not a
solution of the linear system,



3. Equation 1 Equation 2

yv=—-Tx—4 y=8x+35
’%=} —7(—1)—4 3=?8{—1}+5
32?—4 3=?—8+5
3=3V/ 3#F—-3X

The ordered pair (—1, 3) 1s a solution of the first equation,
but it 1s not a solution of the second equation. So, (—1, 3) is
not a solution of the linear system.

4. Equation 1 Equation 2
6x + 3y =12 dx+vy=14
7 ?
6(5) + 3(—6) =12 45 + (—6)= 14
9 2
30— 18 = 12 20— 6= 14
12=12V 14=14v

Because the ordered pair (5. —6) 1s a solution of each
equation, it 1s a solution of the linear system.

5. Equation 1 Equation 2
6x + 5y = —7 2x —4y = —8
. 9 .
6(1) +5(—2) = —7 2(1) — 4(—2) = -8
7 9
3—-10= —7 1 +8= —8
—7=-=-7V 0+ —8X

. {1 \ . .
Because the ordered pair (53 —2) is not a solution of
Equation 2, it is not a solution of the linear system.



6. Equation 1 Equation 2

y=06x+ 11 2x+y=-9
42 6(—2.5) + 11 2(—2.5) +(—4)=? —9
—42?—15+1] —5—42—9
—4=—-4v/ —9=-9v/

Because the ordered pair (—2.5, —4) is a solution of each
equation, it is a solution of the linear system.

7. The lines appear to intersect at (1, —3).

Check Equation 1 Equation 2
x—y=4 dx +y=1
? ?
1 —(—3)=4 41)+(=3)=1
? ?
1+3=4 4—-3=1
4=4v =1V
The solution 1s (1, —3).
8. The lines appear to intersect at (—4, 5).
Check Equation 1 Equation 2
6y + 3x = 18 —x + 4y =24
7 ?
6(5) + 3(—4) = 18 —(—4)+ 4(5) =24
? ?
30— 12=18 4+20=24
I8 =18V 24 =24V

The solution 1s (—4, 5).



Y= x 7]
6 )/
41-(3, 4)
21 /0
‘y=x+ﬂ
i : . -
2 | 4 | 6x
Check Equation 1 Equation 2
v=—x+7 y=x+1
? ?
4=—-3+7 4=3+1
4=4v 4=4v

The solution 1s (3, 4).



10. Bn}"
N\
W
y=2-8|
— 4,0 >
—4 8 12 x
4
/
[ {y= —x + 4
Check Equation 1 Equation 2
y=—x+4 y=2x—28
? ?
0=—-4+4 0=24 —8
?
0=0v 0=28—8
0=0v

The solution is (4, 0).



11.

2 /ay
y=%x+5_/
3\\ JJ'/ o
\VAD
4(_9 \:” >
—12 M %, —4 X
. ’ij‘l_l__\
. y=3x+2
yf' |_4\r
Check Equation 1
v=%x+2
2
?
—1=-3+2
—1=—-1V

The solution 1s (—9, —1).

Equation 2
)
y=3+5
2
—1=—-6+5
—1=—-1V



12.

I

Check Equation 1

}?:ix—.:l

4
l.:l.

5=3(12)—4

l.:l.

5=90—4

5=5v

The solution i1s (12, 5).

Equation 2
V= —%x+ 11
?
5= —3(12) + 11
g
5=—6+11
5=5V



13. Ox + 3y = —3
Ox —9x + 3y = —3 — Ox
3y=—-99x—-3
3y _ —Ox — 3
3 3
y=—3x—1
}".uf‘

\ 67%\; 2x+4]_

\
(—1,2:X2

- \ >
—4 2 {1)(
SNy =—-3x— 1:
¥ X
Check Equation 1
Ox + 3y = —3
?
9(—1) + 3(2) = —3
?
—-9+6=-3
—3=-3V

The solution is (—1, 2).

x—y=—4

X —2x—v=—4—-—2x

—y=—2x—4
—y_ —2x—4
—1 —1
y=2x+4
Equation 2
2x—y=—4
?
2(=1)—2=—4
?
—2—-2=—4
—4=—-4V



14.

3y—9x=9 X+ 3y= -6
3y=—9x+9x =9+ 9x xX—x+3y=-6—x
3y=9x+9 Jy=—x—06
3y _9x+9 3y _ —x—6
3 3 3 3
y=3x+3 1*2—%3:—2
it
‘[y=3x+3j
R,
€ -
. —2 P 4 x
(-3 3P
2 2/ ~
R
=
Check Equation I Equation 2
3y—9x=9 x+3y= -6
o A . 5
(DA A
- 2 2 2 - 2
9 277 392
R 2727
0=9V —6=—-6V

The solution 1s (—

b | s
+

)



15. dx — 4y = 22 y= —353
dx —4x — 4y =22 — 4x
—4y = —4x + 22
—4y _ —4x + 22

//
o4l AN
=554 Tax—ay = 22)

rd -
= g (O

¥ 1Y
Check Equation 1 Equation 2

22 y=-55

The solution is (0, —5.5).



16. x—l};:—% —4x — 8y =2
r—x—2y=—%—x —4x +4x — 8y =2+ 4x
—2y=—x—% —8y=4x + 2
-1
—2y _ 2 —8y _4x +2
—2 —2 —8 —8
| | 1 1
= —x + — P = v — —
YTy Y=g
AY
iy = %x+;—
_\\‘_;ﬂ
‘\"‘\ 2 ;/.-
< N .
—4 }/7‘\,‘_‘_3 4 x
A1 TSN
sl (_i*,ﬁ) AR
| _ 1.1
1
Check Equation 1 Equation 2
1
x—2y=—= —d4x — 8y =2
x— 2y > x — 8y
1 2(0) ; 1 —4( —l) — 8(0) ; 2
2 2 2
o1, 2=2v
2 2 -

B | —
=
=

The solution is (— .



21. The solution of the system should be the ordered pair for

the point of intersection, not just the x-value where the
lines intersect.

y=2-1
Bny \
4 LY
™
(2. 3) {y=x+1}
2
~ /| 2 | a 6 x
L

Check Equation 1 Equation 2
y=2x—1 y=x+1
? ?
3=2(2)—1 3=2+1
?
3=4-—1 3=3/
3=3/

The solution of the linear systemy =2x — landy = x + |
is (2, 3).

22. B: The total of the shots is 16 and it 1s expressed as
p + . This expression correctly equals 16 in choices B
and C. There are p shots worth 2 points each and this is
expressed as 2p. There are g shots worth 3 points each and
this is expressed as 3¢g. You score 35 points, so 2p + 3¢ must
equal 35, which is choice B.



